22X 7"7 '010 R,72 M2 702

— TR INOWTY AR IR DAN
However he is not believed to marry him to a woman

OVERVIEW

The &n»12 states that if there are two people (each of them) claiming that he and
his friend are 0°372; the rule is that they are believed to allow each other to eat
7217n; however, they are not believed to the extent that their friend can marry a
woman. The testimony of a single witness is insufficient. There is a dispute
between "7 and NdOIN as to what is the concern that should prevent him from
marrying (if his 017 is based on the testimony of only one V).

= 39509 2M9M1n YYN DIVN 1o90Ppa vy
>'"w9 explained the reason he cannot marry is because of the concern that he may
be either a 9% or a 3°n1 (who are both forbidden from marrying with Jewish people).

n1voIN asks:
= (0w &, M) XIINNA 1PIINTI YWNINY NI Y91YT NP

And this explanation is difficult, for we are not concerned for this; that the

person is either a 7 or a N1, as 7717’ 27 and X2 state in YT pOo -
= 67990 N2 2503 IN D) D7 515D 139997 ONIYWY N2 DY NAN TaY) DA T2y 22

Regarding a gentile or a slave who had relations with a Jewish woman, that
we say to this child (born from this relationship) either go away or marry a

woman similar to you (who is also born from a 5% > na ¥ X317 7231 2"9Y) -
= 7INIYI N ININIYI ININ 0299991 1PNV DIPNY 79> ONRT YHWUN

Uswownh 7"7 2,70 2"wA. It is not clear what >"'w1 means here where he writes 1°0m1°2 X°% 79vn ,nony; is he referring
[even] to a n°2x W (and is in accordance with his w15 on 2,772) because the m7mn wwn applies to a N9XW> as well,
or does he mean only a ni5 (which would seemingly contradict what he writes later on 2,772). See 121 Ax?97 ,°"19.
2 A mn is one who is born from a relationship where there is an 13 7O°X such as a brother and sister or having
relations with a married woman (also if one or both of the parents are o).
3 A pvniis a descendent from the o°1wax (who are from the n¥X 't) who converted under false pretenses. See
beginning of X,15 N17Y1 17X P9 and in '01M >"wA there for a detailed explanation.
4 There is a dispute there as to the status of the offspring of a Y%7w> na Sy 837 7231 2"ov, whether s/he is a mn or
not. 7717 27 (and X27) maintains he is not a 7, and advised him to go to elsewhere where they do not know of his
status and he will claim that he is a w3 %W and will be able to marry a 77Ww> 8w n2.
5 The people who know his status will not offer their daughters to him (even though he is legally 2w3) on account of
his tainted lineage since his father is an 2"2y.
¢ That woman will agree to marry him because she is in the same predicament (no one wants to marry them).
7 See RIX1 71"7 2,3 @°102 Moo where he derives from this X n3 that if someone (whom we do not know) comes and
claims to be Jewish, we believe him (even) without supporting evidence.
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It is apparent from that X723 that if he will go to a place where they do not
recognize him they will allow him to marry a Y8=w»> na -

- 99110129 PPN 512 YPOND NI 099910 PRV 99 Y 9N
Even though they do not recognize him; and they will not doubt his status and
be concerned that perhaps he is a 101 or a =,

moon offers an additional proof that we are not concerned for n11°n1 MmN
— 211915 5297 N9NIPY NONT 1NN 22 19)

And similarly concerning the one who came before ' -
— 137532 D109Y 1IN NNN IN) THYY HIDOY NAN PN ND 9IN)

And 3"9 told him you are believed to disqualify yourself (that you are not
Jewish, since you did not go through a proper conversion), however you are not

believed to disqualify your children; they retain their maw> npin -
— DN D91 1N NIV 29 DY X 1YD29WD NPINA 150 133 XINY yNRYnN

It is apparent that this person and his children were presumed to be 2 w>,

even though they were not recognized as to their lineage. The question remains what the
X723 means when it states WX WOWI? 7K1 R DIN.

moon offers his explanation of WX WMWY 7RI WN:
— I5MNNN 719 NPT INIYND 199N 9INPT NYN INIWYNADT O 13939D AN

And it is the view of the n''1 that when the X923 states he is not believed wNow»
TWR, it means regarding marrying him to someone whose ‘four mother have

been checked’ -
— MNNNR 7T DPINNK PITY 7298 6AUNR RYIIN (0w 8y 97 purtp) 120N NIYYA PNTD

8 If as >"w" states that we do not allow someone to marry unless there are two 2>7¥ to support his claim that he is
Tw>; what is accomplished by him going to a place where they do not know him, if they will require proof as to his
status before they allow him to marry, they will find out that his father was an 0"2y.
° This contradicts what *"w" states that even if someone testifies that his friend is a 379, he will not be allowed to
marry a ?X° n2 out of concern that he may be a 1°n1 or a n.
10 The reason we are not concerned for n17an is because as the X773 states previously on 2,7> that o7 YXw> 117310
onaw; if he is a 71 people would already know about it; it is well publicized.
xR mna.
12 The person confessed to " that initially he was a gentile and he converted on his own by himself, without going
to a 7""2 as is required.
13 See 'o1n there 181 1"7, that A7 ' is of the opinion that 2 7917 98 W° N2 5y X271 2"oY, w"y.
14 The reason he is not 7281 to disqualify his children is because up until now they were presumed to be 2w>. They
achieved this M7 w> npin without any 0>7¥ to support it (since indeed they may not be 0" w2 according to the father).
This proves that we do not suspect anyone who claims to be a X" that he is unfit to marry.
15 See following footnote #17.
16 The text in our 7w reads N2 7WX (see footnote # 31).
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As we learnt in a 73w» in PO WY P95 ‘one who marries a [N170] woman is

required to check four mothers’ in her lineage!” -
= PINN PITAY 7908 NON 1¥nprTa XD 105D 12 9WIND NPITA NYN XYW ON J1IN) PPN)

And if this 175 (whose friend testifies that he is a 772) would marry an 72172 TwR,
the one who testified that he is a 372, is not believed to the extent that his
daughter should be "w> to marry a 37> without 72373, but rather it will be
necessary to check the mothers of this alleged 7715 —

mooin offers an alternate restriction on this alleged 372:
= 97395 195WONY NI 139N 99912 81T P11 NI

And indeed the X713 could have said that the X"V is not believed to permit him
to do the 71712y, without two o°7v testifying that he is a 175 —

m»oIn continues with the explanation of the X nx:
- D2V DTN INIW 1295991 2PNRT ZMHIN 0IVN NON 2NprTa NN

And the purpose of this 71>72 is on account of nv%n, since the Jews are not so

aware of the 2°59n that are amongst them -
- B5pyr99970 19PUMN NY XADT ;N MINN POV DIV N9

However the 7772 is not because of a question of mn nytnn for as 1
explained we are not concerned for this type of a 5105.

mooIN proves that the 72°72 is because of M%%1 but not because of M NN MAMN:
= D909 NI MWD 19INN RIT NY1Ta NPT NN NINT 9INRPT 0NN ¥NHYN 199

17 A omn 179 who marries a N> and want to be sure that his child is also considered a orvn 772 must check out the
o1 of his intended wife. He is required to ascertain that none of her forbearers are m109 (on account of being a
17991). The ones to be checked out are; her mother, her mother’s mother, the mother of her maternal grandfather (her
mother’s father’s mother) and that mother’s mother. Similarly on her father’s side he must check out her father’s
mother and her mother, the mother of her paternal grandfather and her mother; four on each side for a total of eight.
18 Once a on°n 170 marries an 7172 TWR then his offspring are oo 2°3773 and require no further 7p>72; however the
daughter of this 375 who is supported only by an X"V would require 7p*72 on her father’s side (but not on her
mother’s side for they were 172 already).
19 The advantage of saying 7T2y? 1°wan? 1K1 1°X) as opposed to TWR WWAY 181 11X is twofold; firstly we are
discussing the 172 (not his offspring) and secondly the expression WX Wwa? 1981 1K) is misleading, for he can
marry anyone he chooses, it is just that his children are not 1"»172. See footnote # 35 for an additional advantage..
20 mpooin is referring to the MP>72 of the MK in PWITR 'on (footnote # 17), as well as the MP>72 in our X7n3 that the
daughter of this alleged 777> will have to go through to be considered a nomi"»a (see footnote # 18).
2L A 5511 or 17991 is one who is born from 111775 *Mo°K; if for instance a 772 marries a w13 the child (male or female
[and the nwins wife]) is a m\29n. It is forbidden for a male 7775 to marry a 7951 as it is written (7,8 [7K] XpP7) AWK
P XY A99M 7.
29,7 ys.
23 See footnote # 10.
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And indeed it appears so from the X723 there? which states that the woman is
not required to check the lineage of the husband since nw> N> are not

prohibited from marrying 2¥e5 0°1715,2° this is correct if the concern is regarding the
2109 of 0°%%n -
= 19NV PYWIY YD YWIND NYUN 2ININ NIVAT 19ANN IRTI XN 511N M0N0 DIVN IN)

However if the purpose of the mp>72 is the concern of munn msmn; there
certainly the woman are prohibited, for the 770 equates a woman to a man
regarding all punishment of the 770,26

mooin challenges his view that the 7p°72 is only because of n79n:
- 77425 75aN DINY KYUN 19720 XY P12 MY5N DIV IN 9NN ON)

And if you will say; if we check only because of n¥»»n, they should only check

the father’s genealogy, but not the mothers’ -
= 28715aN 15 DY XY NIYWI NYIN NNNX NNPN IDIONT

For even if her mother was a 7591 the daughter will be 713757 779w> through her

father who is a 2w> -
- 30m)55nY NNV 1Y XIS 233 INNYY YaYY

For according to everyone X% 12 are a ;797w mp» for n99mr. So why is there a
need to check her mother’s genealogy [if that mother’s husband is a 2w 8w°].

N150IN answers:
- 31,h50 DIYM AND DINY NN PIT2Y 12598NY INNM 9119 U

And one can say; that since they required checking out the 911> of the father
because of the concern of n»®n, therefore -

24X TRIR.
25 A 77w> naid may marry a 991 172, The prohibition regarding (7w and) 110°1 *10°R of 772 apply only to the male
03770 as the 77N writes (X,82 [11K] X7P™) 797X 232 2°3797 PR 18K, but not to 777K 1.
26 A woman is different from a man only regarding X»73 717w Awy M3»; however women are obligated to keep all
7wyn RS Myn including 71 %72 9t X120 X9, Regarding a 77w> she may marry a 997 just as a 971 may marry a 7ow2.
27 We should check only the mothers on her father side (her father’s mother and grandmother, etc. (see footnote #
17), but not the mothers on her mother’s side.
28 See ‘Thinking it over’.
2 Regarding the reverse case if a 911 72 marries a N2X W there is a dispute between the 2251 who maintain the
child is a 91 and *Xno17 ' who maintains the child is w3 since M>21% 710 Mpn PXW° MI3; however regarding a
SXw° who marries a 171771 everyone agrees the child is w3 for m>%n% 7m0 mpn RIS "12.
30 %1y pwITR. A child is a 9%m, if his parents had a relationship that was MoX for a 312 (a 772 married a 7w13), or if his
father is a 9911 772 (even if he married a 71w>). However if his father is a 7> Y8 and married a 79%n, the child is
a7 W,
31 The mwn of mp>72a is regarding a N> (see footnote # 16), meaning that her father is a 375 (and his father, etc. are
all o°1770). It is possible therefore that her father’s mother was a 77%m, then her father is a 9711 (because his father who
is a 115 married a 1991 illegally and their offspring, the nin3 father, is a 2%m) and so is she.
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= NN MM YW 0 DAY 91D Y5 91725 19980 YN N
Since there are already checking for m%%n the o°non required to check out any
possible 7122 she may have, including n°n1 nyarn.

moon qualifies the aforementioned:
- 9ONM 395 NINN 320199 N2 NOWAY NPYTa 599817 PHYNAY 70 1919

And this entire ¥°:10 which requires ;71?372 in order to marry his daughter to a

1773, is according to 1''% who requires this 7272 when marrying a nim3 -
= HTMIY )N MY NPINA MNAWN Y 999N NPT 299819 XY 30NN 1YY 1D 11394

For the 3129 argue there with "7 and do not require 77?572, for they maintain

all families have a ny w2 np -
= 34139095 12 IYINY 219 TAN 1Y 1aN T8 PN

And we do not require even one 7Y to permit his daughter to marry a 37> -
- 3593y N13YND HPTNA INDT T8 NAYY MISY IN 192 PWINY 1771999

However in order to allow his son or oneself to do the 7712Y in the p"»7°2, it is
necessary to bring 279 that he is a 772 for there is not presumption that one is a
3773 as there is a presumption that she is M w> NP2 (at least as a NORW°) —

moon offers an alternate opinion:
= 9¥9Y 199 N8 13299 199N 1) ON

Or we can also say that our X210 is even according to the 3129 (who [generally]

do not require 7p*72) but here it is a case where his 72170 was contested; people

claimed he was not a [7w>] 3772, in that case 7p°72 is required even according to the 01217 -
$ID19 9¥9Y DY RN NIV 029N 0927 NNA 1297 1NN 340NN 9INPT

As the X773 states there in the view of the 1129; ‘when is this so (that 7772 is not

required) only if his 717> was not contested, etc.” however if his 717> is contested
7P°72 is required.

SUMMARY
The meaning of "W W w7 1481 1°X is that his daughter will not be considered a
nomrn nId and will require 72772 (according to »", or even according to the 7127 if

32 moon interpreted the statement of > that WX W2 7981 11K to mean that his daughter will have to go through a
772 process to allow her to marry a 175 (and we do not accept the testimony of an X'"v).
39w Py
3% We are not concerned even for mv%m 7100 and certainly not for n7mn 2108,
35 mpoin is referencing what he said previously (see footnote # 19) that >'1 could have said (instead of 7R3 11X
TWRIRWAY) that 3712¥% 17°waa7 1981 K. This would be true even according to the 7321.
36 9w PR
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his 111772 status is contested). Generally we are not concerned that a person may be
a 1Nl or a I (even according to n"7); however we are concerned that they may
be a 7\75m.

THINKING IT OVER

nmoon asks if the concern is only of M%7 why is it necessary to check the 01° of
the mother’s side, since even if someone was a 719%m, nevertheless the rule is that
12 are a MY 31170 Mpn.” However this 7170 is only if a YXw> marries a 7797, a
112 however is forbidden to marry a 119917 and if he does the children are 0°%91, so
therefore this whole concept does not apply here, since we are discussing a nind
whose mother’s husband is a 372! How can n1oo1n ask that we should not check
out the mother’s side?!*’

37 See footnote # 23.
38 See footnote # 16 & 31.
39 See prx 0771,
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